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QUESTIONS AND ÂNSWERS.

"Constant Reader" wrltes: i. What is the loss of
Pressure in a 3-inch pipe, roo feet long, at ioo lbs.
Pressuie per square inch, supplying steam to an engine
do0ing 5o horse power? 2. What would be the loss in
the sanie pipe supposing there were four elbows and two
globe valves in it.

ANSWER: i. Loss of pressure in steam pipes is due
tu three causes: (a) The pressure required merely ta
Overcome friction in the pipe. (b) The pressure required
tO Praduce the required discharge of steam through a
Pipe of given diameter. (c) That loýs of pressure which
's due ta the difference in temperature of the steam at
OPPasite ends of a long pipe, caused by radiation of
the heated pipe surface inta the surrounding atmosphere.
With the data piven, the combined lasses of pressure
due te the two first causes will be, with a straight pipe,
about one-third of a pound per square inch ; the globe
valves will make no différence practicaliy; the entire
drap due ta friction of pipes and bends and velocity
thraugh samie would be one-haif a pound per square
inch. The drap due ta difference in temperature is
likoely ta be more appreciable, but with the data given it
il flot possible ta more than appraxîmate ta it. Assum-
ing 100 ibs. pressure at boiler ; ioo feet Oif 3-inch pipe,
bare pipes, and an atmaspheric temperature of 6o'-
there would be a difference of temperature of about 100

leahr., correspanding ta a loss of pressure of abour 15
lbs. Per square inch. What the actual drap is, depends
(in the material with which the pipe is covèred, and
t'Ppri the actual temperature af the outside air.

"Fireman " writes : Please explain ta me how ta flnd
the mnean pressure on this card, also what horse pover
's the engine if the card on the other end is the samie.

Steanm, 72' ; revolittions, 94 ; spring, 4o cylinders,
13" x30".

ANSWER.-The mean steam pressure of an indicator
card can best be found by running a planimeter raund
the card If you have flot such an instrument, then

divide up the horizontal Uine representing the length of
the stroke, into a considerable number of equal parts;
draw from each point of division a vertical line cutting
the steam line. Then add the iengths of the verticais
between the stroke line and the steam line together,
and divide by the number of di vision. To this resuit

add the verticil distance between the stroke line and
the atrnospberic line (which you have flot sbown), and
the figure you get will represent mean pressure in lbs.

A MODERN SÂW MILL.

IN the oid-fashioned saw miii each man worked for ail
hie was worth, wrestled with logs and packed lumber

out of the miii. Things are somewhat different to-day ;
in setting up a mil] the macbinery shauld be sa arranged
that the log is flot touched by the man's band after it
enters the miii. It is rolled, carried and bandled entire-
ly by machinery; and after being cut into boards, dim2n-
sion stuif or timber, it is automatically carried out of the
miii and separated into lengtbs, widths, and thicknesses
each side being put by itself outside the miii. Success
or failure in the lumber milling business depends large-
]y upon this point ; it is then in order ta arrange the miii
sa that it wiil be as nearly automatic as possible.

THE Argentine capay tree furnishes a richly veined
and veiy fragrant wood,
fitted for cabinet purposes. D

IN the forests of Para-
guay and Misiones is > Q
found the famous ever- lit
green tree, Ilexparaguà,y- .0

enhis, which produces the '%

yerba-mate, the general ME
beverage of the natives,
the duty on which affords 1.-
the national revenue of 0 wT
Paraguay, the government 0
having the exclusive mon-
opoly of the trade. Sole Cairadian Agents
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